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1. With use of a diagr;am, explain why carbon dioxide is not a polar molecule but water is a polar
molecule even though they both have polar covalent bonds.
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2. Copy Table 4.7: Molecular Shapes and Polarities.
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3. Identify the difference between INTRAMOLECULAR and INTERMOLECULAR forces.
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4. Complete the following T-chart, by classifing the following forces as either intramolecular or
intermolecular: dipole-dipole, dipole-induced dipole, dispersion, electrostatic, hydrogen
bonding, ion-dipole, ion-induced dipole, metallic, non-polar covalent, polar covalent, pure
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5. With reference to a solution of hydrochloric acid, explain what a dipole-dipole force is.
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6. How is it possible that dipole forces could differ in strength?
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7. Explain what hydrogen bonding is.
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8. H-bonds occur when one of three specific intramolecular, polar covalent bonds are present.
Rank the following strengths of H-bonds from strongest to weakest and explain your ranking.
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10. Differentiate between dipole-induced dipole and ion-induced dipole forces and identify, with
use of a diagram, which force applies when oxygen gas dissolves in a sodium chloride solution

comp%%d 1,-3) JOIUTOH of P%drobromlc acid. p0lesin. fi_ »DLD
ol mulﬁw&@(d\?ﬂe) causé e

,{2'2,%%\‘1( m@!toﬁlb ‘o' \4duce, a dipsle Poﬁ in dc& N0 = polas rilecs
w% 4-0 ndlACb o ‘P° le_
e L §t 3’
@ B mf? ao l}t E;mj; dues s*g* g{ Wo o///f H-
Auw ‘ e
et Gy it w;'ap;‘“d“‘”‘



11. What are dispersion forces?
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12. Answer questions #8, 11,13, 14
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